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Trigonometry Questions for SSC CGL Tier 1 &
2 and 10+2 Exams

TRIGONOMETRY QUIZ 4

Direction: Study the following questions carefully and choose the right
answer:

3
(1). IfsinA= e and A is an acute angle, then tan A + sec A is

equal to
A.0 B.1
C.2 D.-1

tan A-sin A ,

(2). What is the value of

sin3 4
secA secA
A. Bs————
1-cosA 1+ cos2A
secA
e D. None of these
1+cosA

(3). (1—tanA)2+(1+tanA)2+(1—cotA)2+(1+cotA)2is

equal to
A. sinzA . coszA B. secZA . cosecZA
C. ZseczA ) coseczA D. None of these

3
(4). If o, B and y are acute angles such that sin a = > cos B =

3
> and tany =1, then what is a + B + y equal to?




(5).

(6).

(7).

(8).

(9).

A. 105° B. 120°

C.135° D. 150°

If cos A + cos’A = 1, then what is the value of
2(sin2 A+ sin4A)?

A. 4 B. 2

1
C.1 D.—
2

If AABC is right angles at C, then what is

cos (A + B) + sin (A + B) equal to?

1
A.0 B.—
2
C.1 D.2

What is cosec (75° + @) — sec (15° — @) equal to?
A.0 B.1
C.sin0@ D.2cos O

(sin ®+cos O)(tan O+cot O)

What is equal to?
sec O+ cosec O

Al B.2

C.sin @ D.cos O

. 45sin0@ - cosO
If 4 tanO® = 3, then what is - equal to?
4 sin@® + 9 cosO

>
|

1
B. -
3

C.1 4.D




T
(10). Iftan 8 @ =cot 2 O, where 0<8 O < 2 then what is the

value of tan 5 O?

A 8. —
5 .

C.1 D.3

&




Correct Answers:
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Explanations:

1.

3
sinA=—
5

we know that,

coszA= 1—sin2A

cosde |12 _ |6 _4
T eOSA= 27957 125 7 5
tan A + A sin4 1
an secA =
co0SA cosA
3
_sinA+1_ gt
~ cosdA 4
5
—8><5—2
= cxg=

Hence, option C is correct.

2.
sind .
tanA-sinA cos 4 Sind
sin3 A N sin3A

sinA(1-1) (1—-cosA)




_ 1 (1- cosa))
_ sind (cos A 1) ( cos A

sin3 A sinZ A

Hence, option Cis correct.
3.

2 2 2 2
(1-tanA) " +(1+tan A) " +(1—cotA) " + (1 + cot A)

=1+tan2A—2tanA+1+tan2A+2tanA+1+cot2A—2cotA+1+cot2A
+2cotA

=1+tan2A+1+tan2A+1+cot2A+1+cot2A
=sec2A+sec2A+cosec2A+cosec2A

2 2 2 2
[+ 1+tan" A=sec" Aand 1+ cot” A=cosec” A]

=2 (sec2 A + cosec’ A)

B 1 N 1 ] _ sin? A + cos? A

"~ lcos2A  sinzAl sin? A.cos? A
1

= 2X = 2sec? A.cosec?’A

sin? A.cos? A

Hence, option C is correct.

4.

sma=7=>sma=5|n60° = o =60°
V3

cos[3=7=>cos[3=cos30°=>[3=30°

andtany=1 = y=45°

~a+B+y=60°+30°+45°=135".




Hence, option Cis correct.

5.

cos A+cos’A=1

cos A=1-cos’ A=sin’A (i)

Now, 2(sin2 A +sin® A) = 2(sin2 A + cos’ A)
[+ from eq.(i) sin’ A = cos A, then sin® A = cos2 A ]
=2x1=2.

Hence, option B is correct.

6.

In AABC, £C is right angled

Then,

LA+ 4B+ 4£C=180°

ZA + £B =180°-90°=90°

cos (A + B) +sin (A + B)

= cos 90° + sin 90°

=0+1=1.

Hence, optiin Cis correct.

7.

cosec (75° + ©) —sec (15° - 0)

= cosec (75° + ©) —sec [90° — (75° + O)]

= cosec (75° + ©) — cosec (75° + O)




=0.
Hence, option A is correct.

8.

(sin® + cos ®)(tan O + cot O)
sec® + cosec 0

sin @

+ cos @
: cos @
(sin ® + cos 0) Y]

1 1
cos® ' sin 6

. sin? @ + cos? 0
(sin® +Cos(9)( sin @ .cos O )

sin @ + cos @
sin @.cos 6

1 ) sin @ . cos @

= (sin® + 0] ( X
(sin gy sin @ + cos O

sin @ .cos @

=1.
Hence, option A is correct.

9.

3
4tan®@=3 > tan@=z

4sin @ - cos O
4sin® + 9cosb

[+ Dividing numerator & denominator by sin 9]

sin @
B 4(COS@)—1 _4tan@-1 3-1 2 1
~ (sin@ T 4tan®+9 3 +9 12 6
4(c059)+9

Hence, option D is correct.




10.
tan 80 = cot 20

tan 80 =tan (90 — 20)

80=90-20
100 =90
©=9

tan 50 =tan 45° =1.

Hence, option B is correct.
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